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10.

Today, the basic management functions are considered to be . (a) planning, coordinating, staffing, and

directing; (b) planning, organizing, leading, and directing; (c) commanding, organizing, leading, and staffing; (d)
planning, organizing, leading, and controlling

A domestic firm and a foreign firm sharing the cost of developing new products or building production facilities in
a foreign country is called a ___ . (a) franchising agreement; (b) joint venture; (c) foreign subsidiary; (d)
licensing agreement

Organizations in which of the following cultures are likely to have formal rules and little tolerance for unusual
ideas and behaviors? (a) high power distance; (b) low power distance; (c) high uncertainty avoidance; (d) low
uncertainty avoidance

Management by objectives (MBO) is a management system in which the first steps are setting specific
performance goals that are . (a) established that can be easily accomplished; (b) jointly determined by
employees and their managers; (c) determined by top management with clarity so that the objectives are clear to
even the most incompetent employee; (d) developed in such a manner that the employees are self-directed and do
not need supervision

If a bank estimates the capabilities of its training and development department employees prior to implementing a
new training program designed to change their method of providing customer service, it is completing what step in
the strategic management process? (a) analyzing the external environment; (b) identifying the organization’s
current mission, goals, and strategies; (c) analyzing the organization’s resources; (d) formulating strategies
Employee relations, philanthropy, pricing, resource conservation, product quality and safety, and doing business in
countries that violate human rights are some obvious examples of . (a) social responsibility ethics that
managers must decide on a daily basis; (b) social responsibility issues that employees must confront while at work;
(c) areas of social responsibility that influence managers, not employees; (d) decisions that managers face that
have a social responsibility dimension

Which statement accurately defines work specialization? (a) It is the degree to which tasks are grouped together;
(b) Individual employees specialize in doing part of an activity rather than the entire activity; (c) Jobs are ranked
relative only to their worth or value to the businesses; (d) It clarifies who reports to whom

An online wine retailer that sells and ships hundreds of wines to customers all over the world with a payroll of six
employees, most likely has what kind of organizational structure? (a) bureaucratic; (b) simple; (c) functional; (d)
divisional

The most thorough performance appraisal method, , utilizes feedback from supervisors, empioyees, and
coworkers. (a) management by objectives; (b) 360-degree appraisal; (¢) critical incidents; (d) graphic rating scales
In the statement, “The highway is very busy at 5 PM. and is scary to drive on, so I’ll wait until 7 PM. to go
home,” the phrase, “The highway is very busy,” represents which component of an attitude? (a) cognitive; (b}

behavioralyc) emotive}(d) affective
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1. The degree to which an employee identifies with a particular organization and its goals and wishes to maintain its
membership in the organization is the employees” | (a) job involvement; (b) organizational commitment; (c)
global commitment; (d) organizational citizenship

12. Bringing together organizational members from marketing, accounting, human resources, and finance to work on
a task would be an example of a team. (a) cross-functional; (b) temporary; (c) specific; (d) functional

13. According to Herzberg’s Motivation-Hygiene theory, which of the following is considered a motivator? (a) pay; (b)
working conditions; (c) hygiene factors; (d) responsibility

14. A theory that suggests that employees compare their inputs and outcomes from a Job to the ratio of input to
outcomes of relevant others is known as . (a) action motivation; (b} goal setting; (c) reinforcement theory; (d)
equity theory

15. James wants to be certain that his communication with his employees is effective, so he always checks the
accuracy of what has been communicated. He asks his employees questions about what they think they heard.
James is - (a) using feedback; (b) constraining emotions; (c) listening actively; (d) simplifying language
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